Maytag LA608S 04 - CONTROL PARTS

14 i MODELS A608-A608S

POWER UNIT & CENTER ASSEMBLY

b
¥ 211488 ‘1 ; /“j
[ "~ -.. vy ~
211487 - 15887
Il 210315
210670 o
@ 211484 165666
—~
(ly 211483
210179
213044
| 214276 ,

14967

e C s
21|oaof£" wy = iiir

Copyright 1976 () THE MAYIAG COMPANY  # Newton, lowa ¢ Printed In USA

Maytag Residential Maytag LA608S Washer Parts Parts Diagram 04 - CONTROL PARTS
Click on the part number to view part

Original Part Number Replaced By Part Description
1 202770 279347 Switch-Lid
2 203185 Not Available FABRIC SWITCH
3 204475 Major Wire Harness
4 204483 Not Available TIMER
5 204590 Cord, Power
6 204663 Not Available TIMER MOTOR 120-60
7 204696 Button Kit For 2-3168
8 204702 Not Available BUTTON KIT FOR 2-3185
9 204968 E\Isusnegni;) @?_?N Bracket
10 204976 Timer Motor 120-60 RPR
1" 205160 Not Available TOP COVER-WHITE
12 205171 Not Available TIMER DIAL, SUN-GLOW
13 205192 Not Available Oy O PAREL, SUN-

CONTROL PANEL KIT, SUN-

14 205197 Not Available GLOW


http://www.pwslaundry.com/c-504450-residential-maytag-la608s-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-10402084-maytag-204475-washer-major-wire-harness.html
http://www.pwslaundry.com/i-10406251-maytag-204590-washer-cord-power.html
http://www.pwslaundry.com/i-10401937-maytag-204696-washer-button-kit-for-2-3168.html
http://www.pwslaundry.com/i-10406241-maytag-204968-washer-plunger-and-bracket-assembly-w.html
http://www.pwslaundry.com/i-10401930-maytag-204976-washer-timer-motor-120-60-rpr.html

15
16
17
18
19
20
21
22
23
24

25

26

27
28
29

30

31
32
33
34
35
36
37
38
39
40
41

42

43

44
45
46
47
48
49
50
51

205198
205199
205321
205333
205336
205338
205339
210186
210866
211065

211294

212937
212942
213077
213117
213322

214196

214467
214471
311155
303846
313122
910182
Y313262
410296

Not Available
Not Available
Not Available
3370225
90767
248562
Not Available
22001619
Not Available
67006908
Not Available
Not Available
3400014
Not Available
Not Available
Not Available
Not Available
22003781
25-7809
W10116752
596669

BRACKET KIT - LEFT HAND
BRACKET KIT - RIGHT HAND
Temperature Control Switch
BUTTON KIT FOR 2-5261
Water Level Switch

Button Kit For 2-5336-1

Button Kit For 2-5336

Screw

Nut, Twin Speed

Spring, Index Wheel

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, HeX Head No.8 X 3/8
Inch

Washer, Bracket To Top Cover
Bezel, Timer Dial
Terminal

Grommet, Cord Part Not Used-
Gas Models Only

BARRIER, MOISTURE
Tube, Water Level Switch
CAP FOR TIMER KNOB
Screw, Ice Rack

MAYTAG DECAL
Fastener, Exhaust Duct Kit
Screw, No.6-20 X 1-1/8 Inch
Plunger, Lid Switch
LEVER, UNBALANCE
Spring, Lid Switch

Screw

INSULATOR FOR KINGSTON
TIME

TIMER KNOB-CLEAR
ACRYLIC

NUT

BACK-UP PLATE

Ground Wire And Clamp
Screw, Ground Strap

Screw - Baffle To Tumbler
Screw, No.6-20 1/2 Flthd Torx
Retainer-

Clamp, Manifold


http://www.pwslaundry.com/i-10401944-maytag-205321-washer-temperature-control-switch.html
http://www.pwslaundry.com/i-10402116-maytag-205336-washer-water-level-switch.html
http://www.pwslaundry.com/i-10402117-maytag-205338-washer-button-kit-for-2-5336-1.html
http://www.pwslaundry.com/i-10402118-maytag-205339-washer-button-kit-for-2-5336.html
http://www.pwslaundry.com/i-10414301-maytag-3370225-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412614-maytag-210866-washer-dryer-nut-twin-speed.html
http://www.pwslaundry.com/i-10412753-maytag-211065-washer-dryer-spring-index-wheel.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10407833-maytag-211410-washer-dryer-screw-hex-head-no-8-x-3-8-inch.html
http://www.pwslaundry.com/i-10414058-maytag-211500-washer-dryer-washer-bracket-to-top-cover.html
http://www.pwslaundry.com/i-10414054-maytag-211605-washer-dryer-bezel-timer-dial.html
http://www.pwslaundry.com/i-10415038-maytag-248562-washer-dryer-terminal.html
http://www.pwslaundry.com/i-10412833-maytag-211881-washer-dryer-grommet-cord-part-not-used-gas-models-only.html
http://www.pwslaundry.com/i-10406322-maytag-22001619-washer-tube-water-level-switch.html
http://www.pwslaundry.com/i-10414243-maytag-67006908-washer-dryer-screw-ice-rack.html
http://www.pwslaundry.com/i-10409614-maytag-213323-washer-dryer-fastener-exhaust-duct-kit.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10406248-maytag-213718-washer-plunger-lid-switch.html
http://www.pwslaundry.com/i-10406336-maytag-213720-washer-spring-lid-switch.html
http://www.pwslaundry.com/i-10414297-maytag-3400014-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412631-maytag-311155-washer-dryer-ground-wire-and-clamp.html
http://www.pwslaundry.com/i-10412953-maytag-22003781-washer-dryer-screw-ground-strap.html
http://www.pwslaundry.com/i-10409619-maytag-313122-washer-dryer-screw-baffle-to-tumbler.html
http://www.pwslaundry.com/i-10409744-maytag-25-7809-washer-dryer-screw-no-6-20-1-2-flthd-torx.html
http://www.pwslaundry.com/i-10414246-maytag-w10116752-washer-dryer-retainer.html
http://www.pwslaundry.com/i-10408588-maytag-596669-washer-dryer-clamp-manifold.html

	Maytag LA608S 04 - CONTROL PARTS

